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1. Please use “T” or “F” to identify the correctness of the descriptions.(20%)
(1) Thereis a negatiye relationship between interest rates and bond prices.
(2) Longer-term bond prices are more sensitive to changes in interest rates than are
short-term bond prices. .
(3) A Treasury bond’s bid price will be lower than the ask price.
(4) Investors may obtain the same securities at the same time in either the primary or
secondary markets. '
(5) The dividend discount model should not be used to value stocks in which the dividend
does not grow. '
(6) Securities with the same expected risk should offer the same expected rate of return.
(7) As the opportunity cost of capital increases, the net present value of a project
increases. ,
(8) When calculating IRR with a trial and error process, discount rates should be raised
‘when NPV is positive.
(9) The payback period considers all project cash flows.
(10) If a project has multiple IRRs, the highest one is assumed to be correct.

2. Please choose only one correct answer.(20%)
(1)The cbupon rate of a bond equals:

'A) its yield to maturity.

B) a percentage of its price.

C) the maturity value.

D) a perce ntage of the par value.
(2)Periodic receipts of interest by the bondholder are known as:

‘A) the coupon rate.

B) a zero-coupon.

C) coup on payments.

D) the default premium.
(3)Which of the following presents the correct relationship? As the coupon rate of a

bond increases, the bond’s:

- A) face value increases.

B) current price decreases.

C) interest payments increase.

D) mat urity date is extended.
‘4)In the calculation of rates of return on common stock, dividends are and

capital gains are

A) guaranteed; not guaranteed o : x

B) guaranteed; guaranteed % l EZ/H\ZZE: x % % gﬂ

C) not guara nteed; not guaranteed |

D) not guara nteed; guaranteed
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(5) If a stock’s P/E ratio is 13.5 ata time when earnings are $3 per year, what is the
stock’s current prige?
A) $4.50 o
B) $18.00
C) $22. 22
D) $40 50
(6) The expected return on a common stgpk is composed of:
A) dividend yield.
B) capital appreciation
C) both dividend yleld and caprtal appreciation.
D) capit al apprecratlon minus the drvrdend yield.
(7) Which of the followmg statements is correct for a project with a positive NPV?
A) IRR exceeds the cost of capltal
B) Acceptmg the project has an indeterminate effect on shareholders
C)The dlscount rate exceeds the cost of caprtal
D)The prof tability rndex equals one
(8) The decrsron rule for net present value is to:
A) accept all pro;ects with cash rnﬂows exceeding initial cost.
B) reject all prOJects with rates of return exceeding the opportunrty cost of capital.
C) accept all projects with posrtrve net present values
D) reject all projec ts lasting longer than 10 years. y
(9) As the discount rate is rncreased the NPV ofa spemf c prolect will:
A) mcrease
B) decrease
C) remain constant.
D) qecreas e to zero, then remaln constant.
(10) Soft caprtal ratronrng
A) is costly to shareholders.
B) is used to determine mutually exclusive projects.
C) should be costless to the shareholders of the firm.
D) solves the pro blem of mvest_rnent timing.

09:00-10:20

3. How much should you pay for a $1,000 bond with 10% coupon, annual payments and five
years to maturity lf the mterest rate i is 12%? (1 0%)

4, What pnce v;vould you expect to pay for a stogk wlth 13% requlred rate of return, 4% rate of
~ dividend growth, and an annual drvrdend of $2.50 wh;ch will l:ge pald tomorrow'7 (10%)

5. (1) What is the payback penod on each of the followmg prOJects? (40%)

, _ Cash Flows, Dollars
| Project | Year :0 1 2 3 4
| A ] 3000 [+1000] +1,000 | +3,000 0 = H E B
B -1,000 0 | +1,000 +2,000 +3,000 X El K
C 5,000 | +1,000| +1,000 +3,000 +5,000

(2) Given that you wzlsh to use the paybaclg rule vl:}th a cutoff period of 2 years, which projects
would you accept?

(3) If the opportunity cost of cap'ttal is 10 percent, please calculate the NPV of each project.

(4) Which projects are acceptable under NPV rule?
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